48168  KIE A= THYEFWEES
Xig 13690)IZEY D tEEEZ AND
A HEITNIE 13600 IZFIBLV\DIE(ES
BT2[_13830_] 13840]I=STOP% &<
B BY—V THYMLV-EE
BT1 13590)IZEY D tEEEZ AND
C HEITNIE 13500 IZFIBLVDIEIES
B2[ 13600 ] 13710]IcsTOP% &<
ﬁ CY—VTHYGWEE T
B1[ 13500 | 13490) =B Y D tRIEZE A
E HEITNIE 13430 IZFIBLVDIEES
T[13430_] 13610]I=STOP% &<
i DY —UTHYMLIZE T
s1| 13350 | 13710|[CEL D HIEEE A
G 13420} IZFEY DFIEEEX AND
s2[ 13250 ] BUAHIES NIE|___13830](HIBL\DIEEE
H 13590} [ZSTOPZEEL
ST1|__13150 | SEUMNKETIE] 13350|IcFIBL\DIEEE
I 13510}[ZSTOPZEEL
ST2_ EV—VTHYMSWLEE
J 13610|ICEL\DHIEIEEXAND
13340|ICFEY R FEEE AN D
BLAWEINIE]  13700)IcFIBL\DIEELE
13490]IZSTOPEEL
FUMNKHETNIELL  13250]IcFIBL\DIEEE
13440)IZSTOPZEL
FY—CTHUMWEISES
13510} ICEL\DFIEEXAND
13240]IFEY D EEE AND
BN EITNIE 13600]ICFIBLNDIEEL
13420][ZSTOPZEEL
FUMNHEITNIELL  13150]IcFIBL DIEEE
13360][CSTOPZEEL
GY—UTHYGWEES
13440 ICEL\DFIEEXAND
13140)ICFY DFIEEFAND
BLAWEINIE]  13500)I=FIBL\DIEELE
13340]I=STOPEEL
FUMNHETNIELL  13020]IcFIBL\DIEEE
13260]I=STOPEEL
HY = THYMW-EE
13360|IBL\DFfEEFZAND
HEITNIE 13430|IZFIBLVDIEIES
13240]I=STOPEEL
IJ—UTHYS WSS
13260]IBL\DFEEEZAND
HEITNIE 13350|IZFIBLVDIEIES
13140]I=STOPZEL
JY—UTHYMLEISE
13160/ B L \DFRIEFZAND
HEINIX 13250|[ZFIBLVDIEIES
13140)[ZSTOPZEEL




